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Задание G1_49

Прочитайте приведённые ниже тексты. Преобразуйте, если необходимо, слова, напечатанные
заглавными  буквами  в  конце  строк,  обозначенных  номерами  19–25,  так,  чтобы  они
грамматически  соответствовали  содержанию  текстов.  Заполните  пропуски  полученными
словами. Каждый пропуск соответствует отдельному заданию из группы 19–25.

A Walking House

19 
Can you imagine a house that can walk? An innovative prototype of a walking house
__________________ last year in England. INTRODUCE

20s The  __________________ thing  about  it  is  that  this  eco-friendly  house  has
everything necessary –  a  kitchen,  a  composting  toilet,  a  method to  collect  rain
water, and so on.

GOOD

21s Without a doubt,  such houses __________________ enthusiastic  travellers in
the near future.

ATTRACT

22s The __________________ samples are already on sale. ONE

How the Nobel Prize started

23s Everybody knows about Alfred Nobel. He was the man who __________________
the world a great invention – dynamite.

GIVE

24s However,  Nobel  saw that people started __________________ it  for military
purposes.

USE

25s

That is why the scientist changed his will  and introduced the Nobel Prize. The
scientist’s  wish  was  that  people  would  remember  something  good  about
__________________. HE
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